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Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 8 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 8 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) Dimension of torque is
(a) MLT - 1
(b) ML2 T - 2
(c) MT - 1
(d) ML 2 T - 1

(i) cy vk?kw Z.k dh foek gS

(v) MLT - 1
(c) ML2 T - 2
(l) MT - 1
(n) ML 2 T - 1

(ii) Which is a vector quantity
(a) Energy
(b) Potential
(c) Work
(d) Momentum

(ii) buesa ls dkSu lfn'k jkf'k gS

(v) ÅtkZ

(c) foHko

(l) dk;Z

(n) laosx
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(iii) Relation between coefficient of friction   and angle of
friction  is
(a)  sin 
(b) tan 
(c) cos 
(d) cot 

(iii) ?k"kZ.k xq.kkad   rFkk ?k"kZ.k dks.k   ds chp laca/k gksrk gS

(v) sin 
(c) tan 
(l) cos 
(n) cot 

(iv) The apparent weight of a body falling freely under gravity
is -
(a) 0
(b) 
(c) 9.8 gm
(d) None

(iv) xq#Ro ds v/khu eqDr #i ls fxjrh gqbZ oLrq dk vkHklh

Hkkj --------- gksrk gSA

(v) 0
(c) 
(l) 9.8 gm
(n) buesa ls dksbZ ugha



(v) If R is the radius of earth and g is the acceleration due to
gravity then escape velocity is
(a) gR
(b) 2gR
(c) 2 /R g
(d) 2Rg

(v) ;fn i`Foh dh f=t;k R rFkk xq#Roh; Roj.k g  gS rks
iyk;u osx gS

(v) gR
(c) 2gR
(l) 2 /R g
(n) 2Rg

(vi) Ratio of radius of gyration of a solid sphere about its
diameter and radius of sphere is
(a) 2 / 5
(b) 5 / 2
(c) 2

5 R
(d) 5

2 R

(vi) Bksl xksys ds C;kl ds ifjr% ?kw.kZu f=T;k ,oa xksys dh

f=T;k dk vuqikr gksrk gSA
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(v) 2 / 5
(c) 5 / 2
(l) 2

5 R
(n) 5

2 R

(vii) The liquid will rise in the tube due to capillarity if angle of
contact is
(a) Acute angle
(b) Abtuse angle
(c) 900

(d) 0 0

(vii) ds'kkd"k Z.k ls uyh es a nzo mij p<s axk ;fn LiZ'k dks.k

-------- gksxkA

(v) U;wu dks.k
(c) vf/kd dks.k

(l) 900

(n) 0 0

(viii) Time period of simple pendulum is
(a) 2 /T l g
(b) 2 /T g l
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(c) 1 /2T l g
(d) 1 /2T g l

(viii) ljy yksyd dk vkoÙkZdky gksrk gS

(v) 2 /T l g
(c) 2 /T g l
(l) 1 /2T l g
(n) 1 /2T g l

(ix) We receive heat from SUN by
(a) conduction method
(b) convection method
(c) radiation method
(d) none

(ix) lw;Z ls m"ek ges izkIr gksrh gSa

(v) pkyu fof/k ls
(c) laogu fof/k ls

(l) fofdj.k fof/k ls
(n) buesa ls dksbZ ughaA

(x) According to newton the viscous force (f) is
(a) nA dvdx (b)   .

n
Adv dx

(c) A
.

n
dv dx (d)   A dvn dx

(x) U;wVu ds vuqlkj ';kucy gksrk gSA

(v) nA dvdx (c)   .
n

Adv dx
(l) A

.
n
dv dx (n)   A dvn dx

(xi) Three capacitor each of capacitance c are connected in
parallel, the equivalent capacitance is
(a) 3 C
(b) 3/C
(c) C/3
(d) 1/3 C

(xi) rhu la?kkfj= ftuesa izR;sd dh /kkfjrk C gS lekukUrj Øe
esa tqM+s gS mudh dqy /kkfjrk gS

(v) 3 C
(c) 3/C
(l) C/3
(n) 1/3 C
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(xii) In parallel plate capaciter its capacitance increases When
(a) distance between two plate is increased
(b) distance between two plate is reduced
(c) plates area is decreased
(d) None

(xii) lekukUrj IysV la/kkfj= esa /kkfjrk c<rh gS] tc

(v) IysVks a ds chp dh nwjh c<+kbZ tkrh gS
(c) IysVks a ds chp dh nwjh ?kVkbZ tkrh gS

(l) IysVks a dk {ks=Qy ?kVk fn;k tkrk gS

(n) buesa ls dksbZ ughaA

(xiii) Wheatstone bridge is used in measuring
(a) E.M.F
(b) Current
(c) Resistance
(d) Charge

(xiii) CghVLVksu fczt dk mi;ksx ------ ekius esa fd;k tkrk gSA

(v) fc-ck-c-
(c) /kkjk

(l) izfrjks/k

(n) vkos'k

(xiv) 1 Kwh (kilowatt hour) is the unit of
(a) Power
(b) Energy

(c) Work
(d) All the above

(xiv) 1 Kwh ¼fdyksokV ?kaVk½ ek=d gS]
(v) 'kfDr dk
(c) ÅtkZ dk

(l) dk;Z dk

(n) mijksDr lHkh dkA

(xv) The basic cause of induced emf is
(a) Changing magnetic flux
(b) Changing eddy current
(c) Changing electric current
(d) None

(xv) izsfjr fo-ck-c- dk ewy dkj.k gS

(v) pqEcdh; QyDl esa ifjorZu
(c) HkWoj /kkjk esa ifjorZu

(l) fo/kqr /kkjk esa ifjorZu

(n) buesa ls dksbZ ughaA

(xvi) Induction furnace is based on the heating effect of .........
(a) eddy current
(b) magnetic field
(c) electric field
(d) none
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(xvi) izsj.k HkÍh -------- ds m"eh; izHkko ij vk/kkfjr gS

(v) HkWoj /kkjk
(c) pqEcdh; {ks=

(l) fo/kqr {ks=

(n) buesa ls dksbZ ugha

(xvii) Which of the following is chargeless particle
(a)    particle
(b)    particle
(c) Proton
(d) Photon

(xvii) fuEufyf[kr esa ls dkSu vkos'kjfgr d.k gS

(v)    d.k
(c)   d.k

(l) izksVªk¡u

(n) QksVk¡u

(xviii) Hydrogen bomb is based on the principle of ............
(a) Nuclear Fission
(b) Nuclear Fusion
(c) Photoelectric effect.
(d) None of these

(xviii) gkbMªksu ce --------- ds fl)kar ij vk/kkfjr gSA

(v) ukfHkdh; fo[kaMu
(c) ukfHkdh; lay;u

(l) izdk'k fo/kqr izHkko

(n) buesa lsa dksbZ ugha

(xix) Which of the following is an intrinsic semiconductor
(a) Copper
(b) Mercury
(c) Germanium
(d) Born.

(xix) fuEufy[khr esa ls dkSu bafVªftad v)Zpkyd gS

(v) rk¡ck
(c) /kkjk

(l) tjesfu;e

(n) cksjkWu

(xx) Optical Fibre is used to transmit
(a) Optical signals
(b) Electrical signals
(c) Radio waves
(d) None.

(xx) izdk'k rarq }kjk lapkj.k gksrk gSA

(v) izdk'k ladsrks dk
(c) fo/kqr ladsrks dk

(l) jsfM;ksa rjsxksa dk

(n) buesa ls dksbZ ughaA
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GROUP-B
Answer all five questions :    4 x5 =20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. Define limiting friction and angle of repose.
pje ?k"kZ.k ,oa fojke dks.k dks ifjHkkf"kr djsaA 4

OR (vFkok)
Why time period of simple pendulum is more at the moon as
compared to earth.
ljy yksyd dk vkoÙkZdky i`Foh ds vis{kk pUnzek ij vf/kd

D;ksa gksrk gSA 4

3. What is viscosity ? Define coefficient of viscosity.
';kurk D;k gS\ ';kurk xq.kkad dks ifjHkkf"kr djsaA 4

OR (vFkok)
Explain Why rain drops are spherical ?
O;k[;k dhft, dh o"kkZ dh cw¡ns xksykdkj D;ks gksrh gSA 4

4. Define E.M.F Write any two differences between emf and
potential difference. 4

fo/kqrokgd cy dks ifjHkkf"kr djsaA fo/kqr okgd cy rFkk

foHkokarj esa fdUgh nks varj dks fy[ksaA

OR (vFkok)
Define kilowatt hour (KWH).
A potential difference of 12V is applied across 3 ohm resistans.
Calculate the energy transformed into heat in 10 seconds.
fdyksokV ?kaVk dks ifjHkkf"kr djsaA

,d 12 oksYV foHkokarj 3  izfrjks/k ds vUrxZr dk;Z djrk gSA

10 lsdsaM esa mRiUu m"ek ÅtkZ dh x.kuk djsaA 4

5. State and exlain Faradays law of electromagnetic induction.
QSjkMs ds fo/kqr pqEcdh; fu;eksa dks fy[ksa rFkk O;k[;k djsaA 4

OR (vFkok)
What is optical fibre? Write its uses.
vkWfIVdy Qkbcj D;k gS\ blds mi;ksxks a dks fy[ksaA 4
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6. Explain Bohr's postulates.

cksj dh ekU;rkvksa dh O;k[;k djsa a 4
OR (vFkok)

Describe the noise pollution and its effect an human life.
/ofu iznw"k.k rFkk blds ekuo thou ij gksus okysa izHkkoks a dh

o.kZu djsaA 4

GROUP-C
Answer all Five questions :  8 x 5= 4 0
lHkh ik¡p iz'uks ds mÙkj nsaA +:
7. (i)  Define uniform velocity and uniform acceleration.

(ii) Derive the formula 215  2ut a t  using calculas method.
(i)  ,d leku osx rFkk ,d leku Roj.k dks ifjHkkf"kr djsaA
(ii) lw= 215  2ut a t   dks dyu fof/k }kjk LFkkfir djsaA  8

                                 OR (vFkok)
Define centripetal force and derive an expression for it.  8

vfHkdsUnz cy dks ifjHkkf"kr djsa ,oa blds fy, C;atd izkIr djsa a

8. State and explain Newtons law of gravitation. Write the
dimensional formula and units of 'G' and 'g'
U;wVu ds xq#Rokd"kZ.k fu;eksa dk mYys[k djsaA 'G' ,oa 'g' dk
foeh; lw= ,oa ek=d fy[ksaA 8

OR (vFkok)
What is moment of inertia and radius of gyration? Find the
moment of inertia of uniform circular disc about their natural
axes.
tM+Ro vk?kwZ.k ,oa ?k.kZu f=T;k D;k gS\ ,dleku o`rkdkj pdrh

ds mlds izkd`frd v{kksa ds ifjr tM+Ro vk?kw.kZ fudkysaA 8

9. Explain surface tension and surface energy. Write two
applications of surface tension and discuss it.
i`"B ruko ,oa i`"B ÅtkZ dh O;k[;k djsa aA i`"B ruko ds nks

vuqiz;ksxksa dks fy[ksa ,oa fo'ys"k.k djsaA

OR (vFkok)
Mention the different non-conventional sources of energy and
explain it.
ÅtkZ ds fofHkUu xSj ikjaifjd L=ksrks a dk mYys[k djsa ,oa bldh

O;k[;k djsaA 8
PTO



10. What is Biot savarts law? Explain to obtain expression for
magnetic induction and also mention the direction of magnetic
induction.
ck;kslkorZ fu;e D;k gS\ pqEcdh; izsj.k ds fy, O;atd izkIr

djsa ,oa bldh fn'kk ds ckjs esa fy[ksaA 8
                                 OR (vFkok)
What is electromagnetic induction? Explain the principle
and working of transformer.
fo|qr pqEcdh; izsj.k D;k gS \ Vª¡kUlQkZej ds fl)kar ,oa dk;Z

fof/k dk o.kZu djsaA 8

11. Define photo electric effect. Discuss the effect of intensity
and energy of incident light on photo electric effect. 8
izdk'k fo|qr izHkko dks ifjHkkf"kr djsaA izdk'k fo|qr izHkko ij

vkifrr izdk'k dh rhozrk ,oa ÅtkZ ds izHkko dh O;k[;k djsaA

OR (vFkok)
Explain radio activity Name the different types of rays emitted
from radioactive substances and mention three properties of
each rays.
jsfM;kslfØ;rk dk o.kZu djsa aA jsfM;kslfØ; inkZFk ls mRlftZr

gksusokyh fdj.kks a ds uke dk mYys[k djsa ,oa izR;sd fdj.k ds

rhu xq.kksa dk mYys[k djsaA 8***
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